Karsten Brustad:

Cadenza "hot™

for N
timpang

Durata: ca. 6 min.

The cadenza from "hof" concerto for timpani and orchestra (2015)
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Cadenza "hof"

finger snap

play with hands
use different forms of attacc
and vary where you play,
at edge, close to edge etc.

2 s = e
o) oo grro e | | f ! L —
D I | & o/ [ ] (] o/ = [ | Y o (] I Mpq‘ D@ p— | I /| | )y & | IDP P 0O
4 11’- @ [ 1/ Vi o 1/ — | Vi = o heg ¢ | = I I I h S heg oo | @ I [he &
T etk Vi Ll Y | | I I v [ VI & 1/ 1 b I v ¥ | I I I
— —_ — —_ — 3 . i
3 3 e Vg
Finger tremolo - start at the center of the timpani and
move slowly towards the edge ending with temolo on four-ﬁnger ornament
the edge of the timpani on the same note
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free rhythmic groove @ (’0 play at the edge
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